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Chromosome: 1 : 24332845

Best association
Environmental variable = bio2

G score = 498.17

Beta 1 = 1.47
AIC = 1733.72
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Chromosome: 8 : 78374753

Best association
Environmental variable = bio1
G score = 1146.11
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Chromosome: 9 : 62199365

Best association
Environmental variable = bio1
G score = 540.32
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Chromosome: 16 : 78915310

Best association
Environmental variable = bio2

G score = 596.13

Beta1= 1.92
AIC = 1415.97

I I I I I I I
-150 -100 -50 0 50 100 150

200
180
160
140
120
100

100

50

-50

-100

100

50

-50

-100

I I I I I I I
-150 -100 -50 0 50 100 150

I I I I I I I
-150 -100 -50 0 50 100 150



o
o
-—

-50

-100

snp40808-scaffold524-376781

Chromosome: 9 : 25627287

Best association
Environmental variable = bio1
G score = 536.66

Beta1= 1.5

AIC = 1652.74

-150 -100 -50 0

50

I
100

I
150

300
250
200
150
100

o
o
-—

[ ]

© °

AN

f\"
2 L
()
o
~ I I I I I I I
150 100 -50 0 50 100 150

- GG
O —

-50
I

-150

-100

-50

50 100 150



o
o
-—

-50

-100

snp40187-scaffold512-1292428

Chromosome: 18 : 20337955

Best association
Environmental variable = bio1
G score = 493.44
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Chromosome: 28 : 13109332

Best association
Environmental variable = bio1
G score = 635.45

Beta1= 1.5
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Chromosome: 4 : 42973708

Best association
Environmental variable = bio1
G score = 707.71
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Chromosome: 25 : 41460436

Best association
Environmental variable = bio1
G score = 697.45

Beta1= 1.69

AIC = 1689.17
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